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by = bao [2/Y]
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Xw=96,79,Y,,=100,00Z,~111,46 B,
%y=0,3140y,,=0,3243 it
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Xw=96,79,Y,,=100,00Z,~111,46 B, Xw=96,79,Y,,=100,00Z,~111,46 B,
*=0,3140y,=0,3243 +10 —= Xw=0,3140y,,=0,3243 iag — vt
Ag=(ag~[ag ntag atagyl) Y — V=5 Ag=(ag-[ag ntay atay vl) Y — V=5
B3=(bg=[b3,rtbs atbs v]) Y — v=8 B4=(b4=[04,rtbs, atba v]) Y — V=8

ag=ay [(x-0,171/] i
b=y [(Mpx+bp1)/y]

ay = a0 [(x-0,179] 1
b=y [(Mpyx+hp)/y]

30=1, by =-0,4 r> 30=1,by=-0,4
Mpy=-0,974,0,=0.658 : ) \ A.;3 mp;=-0,169,bp1=0,389 ; =§ ' >
n = Mex -10 L_/L/ 10 n = Mex -10 Y 10
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Xy=0,3140y,,=0,3243 +10 - ﬁ% x=0,3140y,,=0,3243 T10 — ﬁ%
As=(as—[as ntas atas y]) Y — v=5 As=(ag—[35 n*3 atasy]) Y — v=5
Bg=(b5[bs ntbs atbs v]) Y — v=8 Bg=(06~[be, i+, at+bg 1) Y — V=8
a5=a,,{(+0,861x-0,719/-0,026)¥] 1 ag=a,{x/y] +
b=y, [(+0,19%+0,386/-0,240)#] bg=b,, [(Mp1x+bp1)/yl
a9=1,00,b,,=1,00 29,=1,00,b,=-0,40 /_\ \
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n = Mex -1 3 10 n = Mex -10 k% 10
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b5 v=boy(Y/Y1-1) 0,000 0,000 bg, y=bay(Y/Y1g-1) 0,000 0,000
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X=96,79,Y,=100,00Z,~111,46 B* O X,=96,79,Y,,=100,00Z,~111,46 B*,, O & N
*y=0,3140y,,=0,3243 a0 - X=0,3140y,=0,3243 10 e c 8
A*1=(31‘[31,n+31,A+31,v])Y18(Y/Y13)1 B — V=5 A*2=(az‘[az.n+az.A+az.Y])Y18(Y/Yla)1 B — V=5 > 0
* 1701 [0, +01 A*D1 v]) Yag(Y/Y19) — V=8 B*5=(bp=[b2 ntbp A+by v]) Y1(Y/Y19) — V=8 « )
ag =y [(x-0,179y] 4L A =ayo [(x-0,171)y] dL
by = byo 21 by=bao (e x+p)] S
=1, by=-04 %» A* 80=1, by=-04 A* j J WY
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1,Y=Day(Y/Y1g [ 0000 0,000 b2,y=by(Y/Y1g 0,000 0,000 T
2,=0,000,b,,=0,000 0,000 0,000 ay,=0,000,b,,=0,000 0,000 0,000 o~
ay 4=0,014,b; ,=—0,008 0,000 0,000 a 4=0,014,b, A=-0,008 0,000 0,000 < ~~
Munsell-System Y,,=100, Munsell-System Y,,=100, | O
C=2,V=1,2,5,8 &9, Mex T-10 C=2,V=1,2,5,8&9, Mex T-10 > G)
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X=96,79,Y,,=100,00Z,7111,46 B*_, . X,=96,79,Y,,=100,007,7111,46 B* . Qr
Xy=0,3140y,=0,3243 210 = %,,=0,3140y,,=0,3243 110 5 )
—_— V=2 — V=2
A*3:(33_[33,n+a3,A+a3,Y])Y18(Y/Y18)5§ — V=5 *4:(a4_[a4.n+a4.A+a4.Y])Y18(Y/Yla)1g — V=5 oz
5= (05 [D3 03 A D3 v]) Yae(Y/Y18) — V=8 B* 4=(by~{4,+04, A+04 ¥]) Ya6(Y/Y1g) — V=8 @ g
ag=ay [(x-0,171/y] 4L ay=ay[(x-0,179H] + .
b3=byo [(Mp1x+0p1)/y] bs=byo [(Mp1X+bp1)/y] o
ay0= 1, byg=-0,4 L . ag0=1, byp= 0,4 . )
n‘ID1=—0,974,bn1=0,6I58 ' 7» ' A'F 3 mp1=—0,169,bp1=0,3?9 ' DN ' A,; 4 T
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X,=96,79,Y,,=100,00Z,~111,46 B*, . X,=96,79Y,,=100,00Z,~111,46 B* . %
xy=0,3140y,,=0,3243 +10 - xy=0,3140y,,=0,3243 +10 _
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*5:(35_[35,n+35,A+aS,Y])Y18(Y/Y18)1;g — /=5 *6:(36_[aﬁ.n+aﬁ.A+aﬁ.Y])Y18(Y/Yla)1;2 — v=5 !
B 5=(bs{bs p*bs 4*Ds ) V15V V10 — V=8 B 6=(D6{be,r*b6, A+ Do ) V1e(Y /Y19 — V=8 <
az=a,,](0,861x-0,71%/-0,026)4] 1 ag = ag, [X/y] 1 g
bs=by,[(0,199+0,386/-0,240)4] D=, [(Mpx+bp1)/y] D
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a5 y=agy(Y/Y1g-1) Mex ag y=ag,(Y/Y1g-1) SS=EX
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